x =1 and 2(x)=+/x . then (f ~g)lx

-interce
C) y4+6x +-5=0
D) y—-6x+5=0

W,
|



University of Jeddah

L&(@ i Academic Term: First 1438/1439 H

Faculty of Seienc B Rk o
v of Science = ye L
: Exam: First Exam
LATVR e W LA |..-.,-.;I._-.i'|

Depaniment of Mathematics Exam Time: 90 Minutes

Course Code: MATH 110

Student Mamu:," e B

]u‘qﬂ_‘:" Zas

(1) If the graph ‘“f the function fiix)=J5x s shifting to the left 3 units and then it 15 shifting
downward 2 units, thus the new graph can be represented by

fe13-2 3
A) Jx +3 -2 Cj Jx +3+2
by

B)x-3+2 Dy x ==

{2} The distance between the two points (4,3} and (1.—2) 15

A) V50 u_"_
B) J10 %) v26
3R

. £ '
(3) It a circle has radius 1.5 cm, what is the length of an arc subtended by a central angle of 2

rad 7

A) _;ﬂm C) %cm

: :If} Jem D ) ;l-n::m

A) B-{-2.2}

(@Y If £ (%) =52 +4., then the domain of f is
(= 20K
' B

B) |-2.2

(5) The center and radius of the circle x 2 +,:-: +2x —4y =4 are

—2) and 9 o
A) (1,-2) an D) (1,-2)and 3

B) (—1.2) and 9

f) The solution set of the inequality x 28y +12 El] 1
™ (<.2Juf6:2) C) (—0.3]U[4.2)

: [z‘ﬁj D) [3.4]
. Pegek it First Exam (B)

s
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(15) tan =i ——__4_1"_-- _30 [ Eﬂ

1
Oyt
B 2

(16) The distance between the two points (4.3) and (1,2) is
A) /5 = 3 ‘ C) V34
B) VI0 ~X) (3‘__-53 ,SE D) V26 .
. . \

(17) The solution set of the inequality x *~7x +12<0 is

SUT el ©) (‘%U[‘l,m) \

R LIEY)




| o .

(7) The equation of the horizontal line passes through the point (5,—3) 18 _\-\\
A x =—3 B :
2)ye=3 ‘[‘J':-.x'=5 - 1
(8) The solution set of the inequality flr 4 5| <7 is _\\
@) (-64) D C) (~od6]U[1,0)
B) (-m,-ﬁ)p{g.m} b L& D) [-6.1]

If the graph of the function [ (x)= Jx is shifting to the right 3 units and then it is shifting
upward 2 units, thus the new graph can be represented by

C)vVx +3+2
2) _ DYl =32
r_EIﬂ} The function f (x )=sinx +_x@is | -
A) even T )

B) neither even nor odd




